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What is the function of a substation

in a transmission and distribution

system ?

(A) To generate electricity

(B) To store excess electricity

(C) To reduce voltage which can
safely be delivered to customer

(D) To convert electricity into another
form of energy

(E) Not attempted

A circuit that changes a binary code
into a particular set of signals is
called

(B) Multiplexer -
(©) P_C‘?Qd?r (D) Selector

(E) Not attempted

What is.the pnmary function of an

amplifier in an electronic system ?

(A) Convert AC to DC = i

(B) Increase the frequency of a signal

(C) Enlarge a weak signal without
distortion

(D) Reduce the noise in a 31gnal

(E) Not attempted

. Syntax errors are also known as

BITOI‘S

S E¥E
(A) Logic 2

B
(C)' Parsing

(D) None:of the above

-(B) Semantic -

: (E) Not attempted

Which of the followmg types of

oscillator produces an output with -

a sine wave form ?
(A) Non-Sinusoidal Oscillator

I (B) Sawtooth Oscillator

(C) Harmonic Oscillator

(D) Pulse Oscillator
(E) Not attempted -

s (C) TR
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Which one of the following is
measured by the loss of charge

-~ .method ?.

(A) Low Resistance

. ::(B) High Resistance

(C) Low Inductance
(D) High Inductance
(E) Not attempted

Which of the following chart shows
individual figures at a specific time

or makes comparisons, but it places |

- -less emphasis on time flow ?

(C) Bar

(A) Line ' (B)Pie
(D) None of these

(E) Not attempted

The transformer represent as’-

{(8) Rotating device:‘*"-;s-j ’k

(B) Electromc dev1ce L.

‘ (C) Statlc dewce S 4 " ——

{D) None of the: above Tl
(E) Not attempted “_ oo

Two magnehc hnes'»qf' forces
(A) Intersect each other .
(B) Do ot intersect
(C) Are crowded B
(D)':A.ll of tﬁe\above % at”
(E) Not attempted _ [=]

State the octal eqmvalent of hexa

demmal number (B35),,.

(a) (6454)5 (B) (4564),

(C) (5465)3 (D) None of the above
(E) Not attempted
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CG - EE24
Reffaa # 4 frasl amam wf fafy @
w1 T 8 7 EZ
(A) U Al gg@
(B) 3= 3R
(C) 8 FHA
(D) = IThe
(E) TR -
Preferfm # & - = @ fafire
T 3 =t STwe fewrar @ a1 g
T 2, AR T G A WA A
R o %
(&) .(B) W%
(©) ® 0?)3““@%“3"
(E) A
M@EWWWW
(A)ﬁ%%ﬂ:iqm
- (B) TS ITHT . - :
© R TR
(D)aﬂéﬁ“ﬁf“ﬁ.-
() oenRE '
awﬁgaﬁwm o
(A)Qaaa@iﬁuﬁ%aa?@%“
‘(B)srﬁ{%a'—l‘é’fm?f% _
IS %
D sEmWh
&) Ry
%mawamaass)laﬂm '
uged qagd | o X
AA) (6454); (B) (4564)3 i
(C) (5465), (D) Eqﬁaaﬁﬁaﬁ'é%"f
(E) A=

D
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11,

© () Not attempted

12.

13.

14.

15.

- ombinational circuit. .

-(C) DIAC
(D) LASCR
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What is positive feedbaclk in an

amplificr circuit ? .

(A) Fecdback that inc
input signal voltqg

K that decreases the

al voltage of current

reascs the
¢ or current

(B) Feedbac
input sign

(C) Feedback that produces‘an
undamped oscillation

(D) Fcedback.t_hat is 180 degrees out

. of phase with the input

Whicﬁ of tﬂe following de\riqes can

contrql__altgmatjng current and

conduct current in poth direction ?

“Controlled Ecétiﬁ__er (

() sificort
%gﬁr‘ﬂ |
E N

(B) TRIAC

(E) Not attempted..

In an electr0 fiagniet, when curre
switched off, the;lrog;]::_a;ffr .

(3) Holds its magoetis.

(B) Gains voltage . -

(C) Losses its magnetism

(D) Gains currentisz 0

(E) Not attempted -, .

Majuli Island is i‘r,ltv{h_ich;ri\(er_ ?
(A) Kaveri (B) :Ganga -
(C) Bhagirathi - (D) Brahmaputra
(E) Not attempted ! '

are an example of 2
(A) Shift registers” .

B) Multplers
©) Counters

SCR) -

(E) Not attempted

12.

Wﬂﬁﬁﬁﬁh?ﬁq-m%
PO
(@) aferri T S
W%ﬁﬁﬂl%
(B) TRIAC PR (e,
4€) DIAC. . ]
(D) LASCR
(£) Jwaa

13. ﬁd’iﬁgamgm

w%rﬁ@%ﬁm-mﬁ‘ﬂa
(A) I TEFa: '
(B)aﬁéﬁrmﬁag%m%
AC) 3T e W ¥

(D), %hTE ST et &

(E) oA

14, m@?ﬁﬁq%ﬂﬂaﬁ%?

(A) .
(C) wriiceh )JE;’,‘;EF
®) s

() R T s
_B) TEAIER EgE

(C) FRR g‘gﬁ

(D) Toe-wit

(E) SCRITRE -




16.

17.

" is.

19.

" circuit will be equivalent to

- ~Which sc1ent1$t is best known for

_ ‘-mtroducmg the Atomic theory into
" the chemistry ? - '

" (A) John Dalton
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For low resistance measurement,
which bridge i
ge is used ? o)

(A) Maxwell bridge %g
(B) Kelvin bridge

(C) Guarded Wheatstone bridge
(D) None of the above

(E) Not attempted

4

Which of the following chart is
used to show how values change

over time to compare data or show
trends? oo

(A) Line (B) Pie

(C) XY Scatter (D) Column

(E) Not attempted

When both the input signals’A‘ and B of

the NOR and NAND gate are connected
together, the output of the resultant

(A) OR (B) AND. :
{C) NOT. (D) None of the above
(E) Not attempted )

f

(B) Rutherford

(C) J.J. Thomson
(D) None of the above
(E) Not attempted

Race Around condltlon can be avoided
in D1g1tal logic circuits using _

(A) ‘Master-slave JK th-ﬂop
(B) Shlft Register

Q) Full Adder _

(D) AND Gate :
(E) Not attempted - . :

16.

17.

- 18.

19

20.

CG - EE24
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o) mie wewr f
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Frrfufiaa 3 @ forg =T w1 399 77
ﬁ@ﬁ%ﬁqﬁmm%ﬁﬁ%mﬁw
w0 =1 T fan & fe gng % |
Ag HY aqEd & 7 |

(A) A (B) w1

(C) THaTE ¥hel - (D) HIeH

(E) TSR

@ NOR 31 NAND e % 3t 3¢ foma
A 3 B T% @Y 9IS B 8, @ uiend
gie =1 aTsege fRrash =T g ?

© (A) OR (B) AND
(C) NOT (D) Sudw T | HIS &
(E) TSt

—.'—~:wmﬁﬁﬂﬁmﬁamﬁ&ﬂ$ﬁ%

for - AmPs T aRg R 2

(A) ST e L EEm

B) Wes R

(C) I. I, ATHEA '

(D) S & A % T

(B) st - -
%ﬁmaﬁmaﬁzﬁt&mﬁs@ﬁré

et ST HTH ST AR P
(A) ARE-TAT JK fRAu-g=AiT

B) frwe Wt

(C) $& G

(D) AND ¢

(E) e
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23.

24,

25.

26.
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Open wiring is also known as
(A) Casing-capping wiring
(B) Conduit wiring

(C) Concealed wiring

(D) Closed wiring

(E) Not attempted

An 8:1 MUX has
(A4) 1
© 3

select lines.

(é) 2

(D) 4
Switch should always be connected
with

(A) Phase wire (B) Earth wire

(C) Neutral wire (D) None of the above
(E) Not attempted

(E) Not attempted

‘What is the main purpose of using a '

chopper in an electrical circuit ?
(A} To convert AC to DC
(B) To convert DC to AC

(C) To obtain a variable DC output

voltage from a fixed DC voltage
- _source

(D) To mcreaée the frequency of AC
supply
(E) Not attempted

The unit of magnetic flux density is
(A) Weber/m? (B) Lumens

(C) m?
(E) Not attempted

Which of the followmg is Fastest
Memory ?
(A) Cache Memory

(B) Auxiliary Memory .

(C) Secondary Memory

(D) Virtual Memory

(E) Not attempted = - o

(D) None of the above -

-6-

21.

22,

23.

24,

25.

26.

- (E)amri%m

W R A 1R |
(B) T&=ft AR
. (D) SU4F F | i 7

(A) BT AR
(C) I TR

ﬁgﬁqﬁwﬁwwsﬁnmwg@
TR ?

“(a) ACH DC & TEer %

(B) DCH ACH weel ¥ fg
(€) @ Pt DC dieest Hid 9§ =
DC 392YE ieed T F0 % Ry

(D) AC gfd it aafy sgM W R
(E) TSt

(A) ¥/m?  (B) TH
(C) m? (D) 39§ & = T
(E) amTﬁrcr

ﬁn&«rf@aﬁﬁaﬂq—zﬁmﬁaﬁthﬂ%?
(A) 9 TG

(B35 [s]
(B) HEWS AGK L
(GRECIRE R
(D) A A9
(E) 3R




27.

28.

29.

30.

Join Telegram Group "HaryanadJobs.in"

High Tension (HT) Line means

(A) 230V (B) 440V

(C) Above 11 Kv (D) Below 11 Kv
(E) Not attempted '

The Article of the Indian Constitution
provides for setting up of
Administrative Tribunals

(A) 323 A (B) 362 A

(C) 329 A (D) 326 A

(E) Not attempted !

What is the main goal of Zero Hours’
Maintenance (Overhaul) ? -
(A) To maintain a certain service
level on equipment
(B) To correct defects found in
equipment
{C) To leave the equipment as if it
were new
(D) To report the status and
__operational capac1ty of . e E
E
. Uis a set of protocols that
allows you to access any-document

~ “‘installations
(E) Not attempted T
based on the net through a naming

- .system based on Uniform Resource

31.

Locator (URL’S)

(A) Transrmssmn Control Protocol /
Internet Protocol (TCP/IP)

/(—B) Hyper Text Markup Language

(HTML) - _ . -

(C}) World wide Web (“fWW)

(D) Open Source Software {OSS)

(E) Not attempted ;;=. 7 ; ,

is an instrument which
measures the insulation resistance of

an electric circuit relat1ve to earth and
one another.

(A) Tangent galvanometer s
(B) Meggar : =
{C) Current transformer o
(D) None of the above

(E) Not attempted -

27,

28.

29,

30.”

31.

CG - EE24

718 A ( (Tt AT B T 2

(A) 230V (B) 440V

(C) 11 Kv& &I (D) 11 Kv 8
(E) FAmgifed

i dfieT % Pra e § TaEiE
iRl <61 41T R e € 7

(A) 323 T (B) 362 ¢

(C) 329T (D) 326 ¢,

(E) sl
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(D)Gfriiﬂﬁﬁﬁaﬁéqé’f

(E) TSR



Yy
X

32.

33.

34.

35.

36.
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Which type of chopper involves .
converting DC to AC and then back
to DC using transformers ?

(A) Step down chopper
(B) Step up chopper -
(C]l :.;\C ‘link chopper
(D) DC chopper

(E) Not attempted

What is the depth of the trench
required for direct laying of
underground cables ?

(A) 1 meter (B) 1.5 meters
(C} 2 meters (D) 2.5 meters

(E) Not attempted

Concealed wiring is safe from

(A) Humictity (B} Heat -
- (C) Light == (D) Electricity

(E) Not attempted s e

“The purposc of conductmg open
circuit test in transforiner is'to
dctcrrmne A

(A) Eddy current loss

:1(B) Coreloss; = .. .’; ;
(C) Hysteresis loss . - [+
(D):Copper-loss™ - " E¥sE
(E) Not attempted R

Largcst wheat producmg State in
Ind.la is

(A) Madhya Pradcsh
(B) Andhra Pradesh '
{C) Uttar Pradesh.. .- . ..
(D) Assam .=, o, 0
(E) Not attempted ..
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32.

33,

34,

Ly EW a

- (C) WhIRT

fra THR AT H -GN 3z
Fw DC A AC H A T amm pe i
(A) R T3 40 %?EI

(B) W I A @i

() Ac e It

@rg{fiﬁ%l
(B)mﬁ

(a) 3zl
(D) Tersreit

'_'_(E)mmﬁia'

35.—mﬁﬁ3ﬁwmé§§éwm

wﬂufﬂ’crm%?
(A}@W'b'fﬁ

) RN

© ﬁa’éﬁ&ﬁaﬂﬁ

,(D)iﬂ%ﬁ%ﬁ

(E) v

-mﬁwﬁwﬁ(mu@%
' (A) TEISRW |

(B) ITTHSE
(C) SWOHew
(D) 3@d
(E) 3, -



‘ (B) Lambert’s Cosine Law

38.

. (C) Both45and21A
o) None of: the above -
(E} Not attempted ,

39.

(E) Not attempted

{" t6 provide free and compulsory

. .:(B) Through a combination of

#(C)" By the flow of hot and cold air

_(A) Adventitious roots
(B)- Nodular roots - -
- (C) Tap roots
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.. Which law states that the illumination
atany pomton asurfaceis proportional
to the cosine of the angle between the
normal at that point and the direction
of luminous flux ?

{A) Inverse Square Law

(C) Law of Conservation of Encrgy
(D) Stefan-Boltzmann Law

The Articles env"tsages states

education |
(A) 45 |
(B) 21A

In 1nd1rect res1stance heating, how

is the heat produced dehvered to the '

charge ?

(A) By direct contact: of the heatmg
element with the charge

. radiation and convection

‘currents
(D) By passing electric currcnt
directly through the cha,rge
(E) Not attemptcd

Roots arise from parts of the plant
other than the radicle are called

(D) Fibrous roots EES)
(E) Not attempted - -

37.

38.

39.

40.

CEEE L

" (D) RreR

() 45
‘B) 21T

fopeft Firg o I, 39 T
amw\ﬁim?ﬁmﬂ
zﬁaﬁw%ﬁwmﬁﬁ'ﬁfﬂ% ?
(A)WW
(B) g o FHrawa FEa
(c) vt g 1
(D)vﬂtﬁqamﬁ?ﬁm

(C) 2l 45 A 21 T
(D) S § @ HIE T
(E) TSR '

ey WAy are |, mmaﬁ
aﬁﬂﬁ%ﬁq@mw% ?

(A) axlam%am-étﬁﬂaa%tﬂﬁwfa%ﬁ
(B)ﬁl%maﬂwa-@%m%mm%

6 Tk ik 31 g et 3 s

(D) AW % wren § WY fagga ar
iR Feh
(E) 9ERd .

Wﬁ;w%aﬁﬁrﬁmyaw
FPF a8 gt @ |
(A) FqeTf S8 |
| IRwE .
(C) THaT S8

(E) TSR
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g
N

4l. A two-way switch is used for 41, T-TH ﬁ:%m Eakceits — % ﬁ.?q
- (A) Control one bulb from 2 points o fpmmarg | . Prifre o
.(B) Control two bulbs from 2 points - ) T e @ 2 fgal éﬁ-qha' T
(C) : Control multiple bulbs fi . 2 ) 3 aiﬁﬁq;rqq;rfz ﬁgﬁq;aﬁaiﬁ = ﬁwﬁaﬁ
: : e bulbs from
points ° 1 (c)zﬁi
(D) Control one bulb from on_e point i (D) Qq; o Eﬁl Th ﬁg Ll ﬁ'ﬂﬁlﬂ *H
(E) Not attempted -~ | (E) mﬂ%m
42, __ - software can be freely .| 42. BRI 1 WaT 59 Y
used but it does not have to be free of: Tﬂ?ﬁ"T Fm"ql ST Eehdl 3 'a'ﬁﬁ_'{ 98 AT
charge. : T8 & fF U8 f: ek il
. (A). Open source . o () 3l g, -
{B)-Free. Software. I‘oundatlon (FSF) (B). 31 9T, tmaém' (E‘FQWH)
(C) Freeware 7 EE (C) B
(D) Free software ' é@ : (D) St TR RS
(E) Not attempted ‘ "' Y | (E) Tvania LT
43. The battery used in, electnc vehlcles | 43, e a’l?ﬁ Sﬂ'( @ﬁ@ﬁ Gﬁ”SRﬁTﬁ
and Aerospace apphcatlons is ST & TN JRlt a?ﬁ % |
(A) Lead acid cell battery = (A) oS R Jq qh
-.: (B):Lithium-Ton. battery oo | ... (B) [éiiqu SWF'I a?ff
(). UPSbattery. I I (1 ¢ oI
(D) Charger battery o (D) ?ﬂiﬁézﬂ i -_-'*-“-"{'
(E) Not attempted BN i ""—'“‘*(E) mﬂ:@lﬁ rvE {4

. I
o f‘.- S ‘ -t ‘.gl

'44 D1stnbut10n board is used for mwdlng 44, ﬁa'(UT Eﬁ@f EFI EEI"‘-ﬁTT ﬁ'gﬁ ?[@T ‘ﬁl‘s’ ®l
a2 anelectncal power feed mto i | an g ﬁﬁ‘-’ﬂﬁlﬁ?ﬁ%ﬁmm

A 2paths ! g
(B) Subsidiary cxrcui;ts"

VA

(C) Transformer

ey -—(D) SW]tCh e 75 Vi : R I E ey CaeniT
i (E)-Not attempted DR E P20157

45. The famous Parthenon or the temple || 4s. l"ﬂ'-[ TR ‘-'I??Jﬁ ¥ nﬁm T
of Virgin was buﬂt of coloured marble' R T TfeT HaET TG o 7
stones in A gy i 5} 2 B) f@ﬁ
(A) Athens (B) Mesopotexma f (&) “(B)
(C) Rome o). Beypt | (C) Um (D) fﬁﬁ
(E) Not attempted . | (E) mf%m

D -10-
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B

46\ What'kind .of testing involves

47.

48.

-’1t attacks’ ‘the critlcal nﬂormatlon .
7% infrastructure of the natlon

(B) Virus attack. -

measuring the insulation resistance

across earth and.the whole system of

conductors ? . . .., o |

(A) Electrical Wiring Contmulty 1
Testing ‘

(B) Electrical Insulatlon Resmtancc i
Testing '

(C) Electrical Earth Cont1nu1ty Path
Testing

(D) Electrical Performance Testmg
(E) Not attempted

Which type of weldmg process involves

melting of the parent metal ?
s ey s [Of30]

(A) Fusion Welding: O

(B) Non-fusion Welding - - .-—E] £

(C) Res1s1:ance Weldmg

(D) Spot Weldmg

(E) Not atternpted j - o ;
Acetylation of sg}@cylic ac1d j%;pduces

(A) Phosgene TEEE oLl 1) !
(B) Cumene w2y

st £y i

D, y ooy 1

(C) Aspirin S —

(D) Salicyl anhydnde L
(E) Not attempted '\;, ol

4

is new -férih's'bf warfare;
(A) Spoofing
t&) Cybercrime- .- . ,'_1'-

(D) Cyberterrorism = "7 ()
(E) Not attempted " = -

46,

47.

48.

7 (A) B

CG - EE24

Tora wepR % wlteqer § gt A el
B g0 sorreft & g wiedy B A
i R 7

(A) Torga arit f Priatar @ wha

(B) Tergga 3=gerarm wRerdw wliam
() foraa gt Priercr w4 wliaon
(D) forega e Wl

©) swEfE

ﬁﬁamﬁﬁnmnq{—ra@ﬁ
a2 2 -

(a) FgeM AfesT

(B) R-wE afegt -
(C)uﬁﬂtraﬁ-‘grr SRR
(D)méﬁm

(E)axsmf?-m

%ﬁmmaﬂqﬁﬂ?ﬁw
Iqifed a2 i)

(8) FEH

(C) Tt o ’ 53
(D)ﬁi%ﬁﬁww
(E) mﬁm \
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50.

51.

52.
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For electric traction, the motor

used is
(A) DC shunt motor

(B) DC series motor

-(C) DC compound motor

(D) AC motor

(D) Not attempted

Ina step down chopper, what
component provides a path for the
load current when the sw1tch is

not ON ?
(A) Inductor

(B) Resistor = - -

(C) Capacitor ' ;
(D) Freewheeling: onde (DF)

(E) Not attempted T m
Which type of PLC—hke dewceps

commonly used in hght industry
and offers a lower cost alternative

to traditional PLCs 27 .- i
(A) HMI Controller _ %@ﬁ

. __(B)-CNC Contfoller 17w+ &

53.

54.

(C) DCS Controller: == 711
(D) PLR (Programmable. Logic Relay)
(E) Not attempted

T

(&)

Find the analogy TNETE
@) Good = "'(B'), Me1ful
(C) Gracious (D) 'Cruel
(E) Not attempted

9 7o

ﬁl

- 2.is soﬁwa.re code that is

A,__.

de51gned to search for mformatmn on

the: world wide web. | 7 7T

(A): Web search engme
(B) Uniform Resource Locator (URL)
(C) Domain Name’System (DNS)

(D) Web browseriii %3
(E) Not attempted i1 (5

7
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50.

51,

/| sa.

m@m%mmmmm
(A) DC¥iE A&

(B) DC "I Hret

(C) DC HITEE HIKX

(D) AC WX

(E)

R g =i H, 9@ " ON T B 2

| _a’raﬂa—mmaﬁzﬁm%ﬁfmwm
E@R 7

El#7A ]
(&) TSR %ﬁ@
(B) Sfeie.

() garfE

(D) R m?ﬂ's' (D,J
- (E) TR,

52.

%am%mcﬁ&mzmwﬁn
aﬁmﬁﬁmm%ww

Wﬁ?r?PLC# aer 8 & T ATt

e TeA Hars 77 -

(A) HMI fdas

4B) -ONC frags

(C) DcsSTEasd - -1
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(E) 3TRIRT

Sl T e |

L I T 1o | S TSR R
(a) =1 (B) &M@,
(© et o) e
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| e = P A
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A |
(B)@WWWRW)
(C)@ﬁﬂwﬁm(@?r@@)
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Which of the following is not a
requirement for good lighting ?
(A) Sufficiency |

. (B), Absence of glare

57.

58..

(C) Thermal
" (E)-Not: atternpted

(C) High contrast colored light
(D) Steadiness

E) Not attempted

Whlch method of heat transfpr does

not require a medium for propagation

“'-"and occurs:in.a stralght line 'P
. {A) Conduction

(B) Convectmn

(C) Radiation (D) Induction

' (E) Not attempted

__- . " printers are ideal for
printing multiple copies.

(A) Impact

(B) Non-lmpact
(D) Laser

et RS

_What role does the power converter

play in an electnc drive system ?
(A) It converts electrical energy to a

suitable form.and controls power ! ‘

flow to the motor

(B) It ‘zonfrols the motor 'directly

. w1thout feedback. -

s

(C) lt only converts AC to DC

59.

(D) It measures the speed of the

motor % é (] |
(E) Not atternpted E@

Who among the followmg ‘o
personalities is considered as ‘the
founder of Kun_]pura pnnc1pa11ty in
Haryana ?

(A) Mith Singh (B} Sa‘:ub Singh
(C) Gurdit Singh (D). Nljabat Khan
(E) Not attempted 7<=

=13-

55.

56.

57.

'|.-s8.

- (c) Tt

(E) mrmﬁ‘m

CG - EE24

arﬁmmasmﬁmﬁfm A
P el T 2 7

(A) S

(B) =T <RI AT

(C) mmvﬂgfﬂgﬁ

(D) et E

(E) stwarféd }m‘{@

Fo wartaw 6 fra fafy #§ e
i‘ﬁﬁfmmmzﬁmmﬂ‘e‘fﬂ?ﬂ%
g Weh X d g 2 1

(A) EeTe . (B) TEEA
(D) @

(E) Srvamted o

ﬁaa—égﬁ?ﬁﬁﬁ'c’ﬁﬁ%
ﬁ'ﬂﬂ‘ﬂ?ﬂ@ﬁ%l '
(A) T o(B) AR
(©) =i (D) TR

ﬁgﬁ@samsﬁﬁwmﬁ@w
(A)qgﬁgﬁmﬁ w9 H
Wﬂaﬁaw;&ﬁrﬁaﬁﬁaﬁ%
vaTe ! i a2

| {é)a—sﬁ:ntﬁgaa;%wﬁaq’lziaﬁ

Pt warg

~(C) ¥ HIA ACH pcH trﬁ-crﬁa

E2GIS

“'I'(D)agtﬂa@mfaaa‘rmqm%

59.

(E) axsmf@m

ﬁ:{%ﬂi‘gﬁﬁ%%ﬁﬂ%ﬁﬁm%
WWWWWW% ?
() *a e (8) =i fére

© Tafe (D) Fema ww
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60. What is the main purpqsc'_of-using a |
level in clectrical installations ? J

(A) Measuring voltage .. - /, , l

(B) Ensuring installations are |

straight and level.
(C} Detecting voltage presence |
(D) Routing new wiring f

(E) Not attempted

61. A pa:allel‘conibih'aﬁon of two resistors
of 1 Q each, is connected in series with !
& 1.5 Q resistor, The total combination [
is connected across a battery of 10 V.

The current flowing in the circuit is o

B) 2.04
54 40A SN

| LLoBLosa . 78
“(E):Notattempteq -, :

@saM
© 054

62. Whatisthe Bureau of Energy Efficiency. M

(BEE) responsible for ?

v '."(A)";Spearheadjﬁg the_vimprpvement;of;
energy efficiency of the economy |

' (B)"Inci'éasing'énetg'y consumption in'
T India, - o, O |

ST R

) Developing new &gy resources |

(D) Distributing electricity to
.,Consumers T Y

“EE‘;.q
0. afearl 3 et =
i ?ngaai‘:wm%? | %mh
(8) dIeesT AT
(B) & GAIT F P gy
(C)ﬁm@ﬁmqmm
(D) ¢ AT Bt T e
coo, (B) FOPRE zm:zf@

Hhg @,

- R
(E) Not attem_pted ST %a%
63. Fmdtheanalogy |
Gills : Fish :- : Human
A S T
(B)Hands” 60T g i ‘
(C)ﬁostnls o !
(D) Legs -
(E) Not attempted ~ 7. J 'I
214.
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64 which type of timer retaing itls
accumulated time even if the
| enabling input goes false ?
{A) Delay-OFF e
.- . (B) Delay-ON
(©) ‘Delay-ON-Retentive
(D) Delay-ON-OFF
(E) Not attempted
&5. ’wmch type of power converter is
‘used to get \_rariable voltage/variable
frequency from a DC supply ?
(A) AC to DC converter '
= ='(B) DC to DC converter
(C) Inverter jof
(D):_'Cycloébnvertef &
(E) ' Not attempted

-]

66. Which of the following is not an
<= -example of a passive element ?
. -(A) Resistor - -7 (B)-Inductor
‘(C) Capacitor
(E) Not attempted . ...
6T/ _¥What is the definition of Spacing
Height Ratio’in’ lighting'?™
(A) The ratio of luminous flux to
_power consumed

) 'The ratio of the distance betweenj'

" adjacent luminaires‘to their
, height above the working plane
" ()’ The ratio of the illuminance to
the distance from the source

(D) The ratio of luminous intensity to

the area of the surface
(E) Not attempted '
is the main geographical
feature of Haryana in southern part
of the state. | T
(A) Shivalik hills
(B) Ghaggar plane
(C) Semi desert -~
(D) Aravali hills .-
(E) Not attempted =

68.

(D) Voltage Source i

-15-
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64. faﬁamtmmummgﬁ?mmﬁm

65.

66.

67.

68.

s} svqeT GRrd @ AR el % 1

(A) Declay-OFF

(B) Delay-ON-

(C) Dclay—ON-Rctcntivc
(D) Delay-ON-OFF

()
Dcmﬁﬁmﬁaaﬁéﬂ/qﬂaﬁﬂ
R T 0 2 ferg PR YT o T
TR w1 3aam fopa S 2 7

(A) AC & DC FAL

(B) DC @ DC Ha&

(C) TR

(o) Ha & gt T e T A

(D) TE % & H T THHQR <ferdl
(E) SR ‘
ghamn & <ol e § asg
T dimifers fadoar 2 1 5
(&) Trenfers weiEt
(B) TR T GHaS -
© W -
(D) erUaeh wEmear o
() sERE o

-
N O}

OF
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69. Why is it crucial for a power station to
regulate electrical energy generation
according to demand ?

(A) Because electrical energy can be
stored for future use

(B) To prevent overloading the power
station ‘

(C) Because all electrical energy
generated must be consumed

immediately !
(D) To maintain a constant voltage

supply
(E) Not attempted ,

function repeats text a,:

70. The
given number of times.
(A) REPEAT (B) RIGHT - ‘
(C) MID (D) REPT ;\4%

(E) N ot attcmpted

71. Whatis one of the mant enmronmental
benefits of using Solar Energy ;
Technologies (SETs) ?

(A) Increased greenhouse gas
emissions ’

(B) Reduced CO errussxons and
prevention of toxic gas emissions

" “(C)“Depletion of natural resources
(D) Increased air pollution
(E) Not attempted aith

72. Ana.rlge the words glven below ina
meanmgful sequence '
1. Police Tun
2. Punishment

3. Crime
. i4aJudges o
5. Judgementy .,
(). 3"'1 2,45 . i
(B) 1712, 4, 3,5 - . e
(C) 5,4,3,2, 1«
(D} 3,1, 4, 5,.2_;].3;:
(E) Not attempted ;=i 0. 5

.I.'_".‘C

116-
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69. ﬁn’@ﬁmésﬂﬁ;mvm%aw

70.

71.

ﬁ-gﬂavrfsﬂﬁﬁ bt o

wEeaqul & 7

(A) aﬁﬁvﬁgﬁwfaﬁwﬁmqgm
% fere wodta o <11 W 3
B) IR R T HAANET Y ey

% for

(€ mﬁﬁﬁm@%wﬂmﬂﬁmw

1 g 399 FRaT ST g
(D)ﬁﬁ(ﬁmml@ﬁ&;%q

(E)
G 8.l
(a) . REPEAT

(C) MID'
(E)

W'ﬁ"ﬁﬂ@ﬁﬁmqﬁ

(B RIGHT
(D) REPT

e el ST () v
7 3 ot e o A 3

. W% ?

72.

"'sﬁufq

(8) Tersa 3o 3§ iy

_ (B)-CO, It # FHl 3R Sradicdt g

I 6 AT

-r(C)m?f'aEa'am‘r?mgmA

(D) algu?gruraam . gﬁ*-

By IR
'”:ﬁaﬁmm@mmﬁm@m

éll%iq o ik

() 3,1,2,4,5 ..,
(B) 1,2,4,3,5...
(C) 5,4,3,2, 1.
(D) 3,1,4,5,2

(E) TSR -
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73"

74.

TE N
ol

. Which programming standard do most
modern PLC systems adhere to ?

) IEEE 802.11 - (B) ISO 9001

"(c) 1EC 61131/3 (D) ANSI C++ i

(E) Not atternpted

g \ .
lfsmx——, = &y
S - gy
1s equal to ' .
o EtsE |

@ (B) 0" 3{@ .
) -1 (D)2 = B

& l(.E).?.NOt attempted R - |

75.

S a
1L

Which type of solar collector is
commonly used for residential
water héating and-can achieve
temperatures lgs\g than ﬂ1_80f,FL?
(A) Evacuated-tube collectoAr_s,
(B) Flat—plate collcctors )
(C) Parabolic trough collectors = |
(D) Central receiver systems. ’

(E) Not attempted - !

i ‘
™mas o ot -

76. Which tool is specnﬁca]ly des:gned for |

fas (A) Multimeter -

wire cutting and can trim wires in
tlght spaces ? o
iﬁ)"FisH Tépe
(C) Plier (D) F]ashhght
(E) Not attempted = ..".-- .

IS . .-..*.

|
: : |
77. What is one method for’ unprowng thei

r:factor in afacility ?. -
(A) Installing capacitors
(B) Increasmg the reactlve power

=

T I 1"démand TEELRUEL e

(C) Adding more mdﬂcﬁv’é loads
(D) Reducing the voItage supply
(E) Not attempted ..

217-

73.

74.

75.

76.

7.

CG - EE24

rfrmizr. g diverd) faen e
ronféT AR T e HQ g 7

(A) IEEE 802.11 (B) 1SO 9001

(C) IEC 61131/3 (D) ANSI C++

(E) mﬁm

d
gfe sinx = lzttg,tany=-1—f—tt?';?ﬁaxz
A B
A) 1 (B) 0
() - (D) 2
(E) 9T o
mmm\zwmmm
mmmm#ﬁwmm

2 IR Tg 130°Fi1$r{am1=rw2m
THaTe 7

(A) ﬁm—a;q'am %‘f@
(B) e~ GATEF -

'(C)qtaaﬁamﬁm

D) ﬁaaﬂ!ﬂatﬁ@ ‘

® EECI RO .
Faﬂw—mmﬁi‘rﬁmﬁaﬂm

%%q%srmﬁmw%aﬂtanwﬁi
ﬁaﬁﬁﬁqmm% .
(A)uafr:ﬁa )ﬁm%q
(C) TR - _(D)_‘?@EW
(E) SRR e
Mgﬁmﬁwﬁmﬁwiﬁm
Qq;ﬁﬁqqzn%? EIRAREY IR

(A) AR el

()i s frmm d afg

(C) aﬁmawmmwaﬁgm
(D) e INYRT Y FHF
(E) i .
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78. What is the characteristic of an

79.

80.

81.

82.

_ (C) Knshnavatl
(E) Not attempted

+(C) Faraday’s law .-

independent ideal voltage source ?

(A) It has infinite internal resistance

(B} It produces a variable voltage
across its terminals

(C) It produces a constant voltage
across its terminals lrrcspcctwc
of the current

(D) It does not exist practically due to
zero internal resistance

(E) Not attempted

Separators in battery is a:
matenal o
(A)’ Conductive !
(B) Non:conductive -
(C) Partly conductive
(D). Heavy conductive ™ .~ 17+
(E?').?Not attempted.

‘ .

In Haryana Tachala Ban'age is bullt
on which river ? ' :

") Yé{xﬁuhé

(D) Chautang

(A) Saraswatl

The dlrectmn of mduced em.f in
generator 1s found by

(A) Flermng s Leﬁ—hand rule

(B) Fleming’s R_tght—hand rule
(D) Kirchhoff s_law_ = eRY
(E) Notattempted. ... .,

. What is the Uinit of illumination ? !
(4) Candela’  (B) Lux -
(C) Lumen (D) Watt

(E) Not attempted \ L

18-

e e

78.

79.

80.

81.

T () WIS v P

82.

-(0). -

CG - EEZq

O T AT e A HY Ry,
R 7
(A)mmmqm%
(B) 48 Zfifet WU thtl?i:ﬂ-q
diees IcaF LT 8
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(D) T¥ FAiaRe FiekIT % Hreor gy
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S F vk
(A) RS
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(C) - 3R FI-H FAEHT

) Wil e

(E) IR

A 30 SR 35 e o w4
() W (B) A

(C) Fomadt (D)aﬁzrrr

___FWI?[‘%]

"_(E) :ﬂmﬁm

_.aﬁaﬁﬁﬁﬁmﬁﬁmmaﬁ
LSt R

(A) q@rﬁnm-mm Eh‘lﬁmr
(B) qﬁﬁnwm&maﬂﬁw
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© (D) 9=

(E) 3wt -




83..

Join Telegram Group "HaryanadJobs.in"

_Which type of renewable energy
involves the harnessing of heat from

" “within the Earth ?

84.

~ (C) COUNT

85.

177 (B) Lambert’s Cosine Law -
(C) Inverse Square Law -
(D) Joule’s Law

87.

(D) Exactly 5 km
Rk '“(E) Not attempted

1(A) Solar Energy

(B) Wind Energy

(C) Biomass Energy
(D) Geothermal Energy
(E) Not attémpted

To add a column ora row number,
the hbraxy functlon used is

(a) AVERAGE (B) SUM
(D) ‘MAX
(E) Not attempted ' i

What is the pnmary charactens'ac
of main line services in terms of the
distance between stops ?-

(A) Less than 1 km.
(B) Between 1 and'8 km
(C) More than 10 kin © * misim

-

. Wl'uch law states that the ﬂlum.lnance
at any pomt on a plane perpendicular

to the line joining the point and source

is inversely proportional to the square.

of the distance between the source
and the plane ? EMFD

(A) Ohm’s Law

1.

(E) Not attempted

Asia’s largest cloth market 1s sﬂ:uated
in of Haryana

(A) Ambala (B) Panchkula

(C) Rohtak - (D) Mohali .

(E} Not attempted @ =ii="=
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83.

84.

85.

86.

‘(C) COUNT

CG - EE24
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it & Fon 1 e wihE € 7

() "R S (16
(B) W i ’@”fﬁ’
(C) =wHTE FHaAt

(D) it St
(E) IToEniEa

UF HH I G U % A6 B AIg4 &

mmmmﬁwaﬁﬁﬂw
S - B

(A) AVERAGE  (B) SUM

: '(D)MAX

(E) vamE

i % e B ot ¥ Hed # e

ﬂmaﬁaﬁmaﬁa;ﬁé’rww%?

@A) 1feftasn

B) 1A st e

(c) 10 Torft & arftrs

(D)ﬁlﬁﬂSﬁﬁﬁﬁ

‘:"(E)mﬁ@lﬁ
m—mﬁmaﬁm%%ﬁgaﬂta’maﬁ

e arell W1 % wead oo TR ot

:~ﬁgmuﬁﬁ‘eﬂaaﬂtw%ﬁ"ﬁﬁqﬁ
..‘Eﬁaﬁ%sgr—smgqm@?ﬁ% 7.2

87.

(&) 3 %1 fam
) ﬁaimﬁms'-rﬁm

) Ega;qaﬁﬁvm

(D)%mﬁ?m

- (E) A - . \
‘jqﬁmww%agrmwgmn%

HfREel o
(A) I . o (B) YEEHE
(C) & .. . (D) &l
(E) TSR
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88. Which type of instrument requires no

89.

90.

91.

* . .(A) Maxwell’s Bridge .-

calibration or comparison with other
instruments and gives the value of
an electrical quantity in terms of
absolute quantities ?

(A) Secondary instrumcnts( .

(B) Electronic instruments

(C) Graphical instruments

(D) Absolute instruments i

(E) Not attempted

If the network contains at leaet one
, it is an electric circuit.

(A) Open path

(B) Closed path

‘(Cj Resistor ) 'y

(D) None of the above

(E) Not attempted '

'” 'l

Which component of a wmd turblne

is respon31ble for convertmg the
. kmetlc energy of the wind mto
- electrical energy ?
~" (A)-Retor -

* (B) Transmission
(C} Tower- i+ - :,(D) ‘Generator
(E) Not attempted Ty

The bndge used for the measurement
of self—mductance of the’ circuit
which works on the’ pnnc1p1e of the

comparison is known' as org

) l. éﬁ e
(B) Anderson'Bridge
(C)’ Schering Bridge - -

(D) None of the above - -
(E) Not attempted =
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maﬁﬁmﬁwﬁmmmﬁm%'
a3l % ded H S R 7 ‘

(A) At IYHT

(B) IR IIHI

(C)mﬁmwwém
ORI
(E) Tonfdd é{%
89. aﬁﬁaa%ﬁm@m@\%,
Al 78 T feregd ity @ |
() g
.. (B) ] WY
(C) Tfriees
(D):ﬂﬂﬁﬁﬁ@(ﬁéq‘&"f
(E)amﬁ%ra
90. wmaﬂaﬁmmmwﬁqm
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AR g 7 ,
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91, Hﬁz%w—ﬂm%‘m%f’@zmﬂ
%mﬁﬁwﬁaaﬁm%mm
T T B, m%
() AR e
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Binary operation * on R - {~1} defincd

by a*b:‘b‘a is

+1 _
(A) * is associative and commutative
(B) *is associative but not commutative

(C) * is neither associative nor
commutative

' (D):'* is commutative but not

93.

94,

95.

* associative Of40]

(E) Not'attempted :‘é]s

Which of the following forces is
necessary to return the pointer of

- an electromechanical indicating
.instrument to'its zero position

when no input signal is present ?
(A) Controlling foxjee N
(B) Deflecting force B

(C) Damping force .
(D) Inertial force BE ghy

(E) Not attempted

','ernch one of the followmg is used as

energy convertor in optical materials ?

(A) Optlc Fibre Cable
(B) LED

(C) LASER

(D) Solar Pahel

(E) Not attempted ]

What is the pnmary use of a -

multimeter? -7 .- -

(A) Measuring Wu'e lengths

(B) Stripping wire msulat.lon

(C) Checking voltages current and
resistance ‘

(D) Detecting voltage preéehiie

(E) Not attempted = e
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92.

93.

940

95.

CG - EE24

a*b:ﬁimqﬁmﬁr{a R - {1} T
faanuard afrar « 2

(A) « GEdrht 3 woad

(B) « Fgdnh uig waed 7Ef 2

(C) =1 wgdh & 1 & w2
(D) « o) R uig wgdnft 7l 2

(E) s

wﬁémﬁmﬂmmb,
Hehtsh 39H &+ GIH Hl

¥ TR e e @ % forg, Prerferfer

A FA-G1 9 AEEF & 7

(A) i &
(B)’ g @
(C) 3TaHEA =
(D) SIS o
(E) TwaiR

'ﬁnmﬁammmaf@m

mqﬁﬁﬁmﬁqﬂaﬁm%wﬁﬁm
AR 7

(A) IANTRH HET Hheacd

(B) Teisst

(C) A~ -

(D) €K ¥

(E)aaumfi‘m

ns‘amammﬂfhﬁavﬁnw% ?

(A) TR =l TETE AT ".E!?"‘E!

(B) TR T TR ©

() a’léa,m;aﬂzuﬁrﬁqaﬁaﬁm
(D) Sieest IRl 1 a1 TN

(E) 3Tt
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96. What is the primary source of energy

97.

98.

99.

100.

in biomass ?

(A) Chemical reactions
(B) Sun

(C) Geothermal heat
(D) Fossil fuels .

(E) Not attempted ' |

India’s first modernised Anganwad1
Center was launched in this place of
Haryana

(A) Hasanpur

(C) Rai

(E) Not attempted

"'(B)- Fatehabad
(D) J. agadhari i

i _"I‘he rate of change of volume ofa
' sphere with respect to its stirface

area when: the radius is 4 cm'is
(A) 2 cm?®/cm? Lo EEm
(B) 4 cm®/cm? m '
©) 6 cm¥/em? .
(D) 8 cm®/cm?

(E) Not attempted

Which of the followmg eﬂ'ects is

96.

97.

98

99.

primarily utilized in the construction sl

- .of commercial electrical instruments P

(A) Chenucal effect e i
(B) Heating effect

(C) Magnetic effect

(D) Electrostatic effect - - |
(E) Not attempted . : ,

] SVE An Ty
What does a non-contact voltage

* detector primarily check for 2.

(A) -Wire Iengths

(B) Current presence )
(C) Voltage presence
(D) Wire insulation - - -
(E). Not attempted -

100,

(3(3,“EEzq
amnmﬁmfwmaﬁqqma
(A)tramﬁawﬁrmrq LY
(B) q&

(C) it T

(D) Sfarem dam

(E) 3T

MR 361 T8l SYFH i T 45
%mmmwﬁﬁmw e
(A) TR © (B)

C) & (D) et
-(E)amr&ra

qﬂaﬁq@fﬁtsﬂ%‘z‘@ﬂ %ﬁ%%‘qﬁa%

“{A) 2 cm¥/em?

(B) 4cm3/cm2"' .
() 6 cm®/ém?
(D) 8 cm®/cm?

(E) ST o |
Preaferfea 3 & BH-a1 T

.:ﬁgammﬁ%ﬁqhﬁmﬁmmﬁ
EREARILRE I & SEREE

(a) Tt o DR

(B) AT W =
C) FohT g
(D) ﬁaﬁﬁﬁem
(E) soRfym ¢

@ﬁt—mm@mg@mﬁ
Torereht St sRar 2 7

(4) TR e

(B) we ufdfy ¢
(C)‘cﬁ_lftfii‘ilf@lﬁ-r

- (O) TR R

() SR

22.





